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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN

OR MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE
TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series Code A, B, C or D carefully and without any omission or
discrepancy at the appropriate places in the OMR Answer Sheet. Any omission / discrepancy
will render the Answer Sheet liable for rejection. -

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 125 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You wil]i select the response which -
you want to mark on the Answer Sheet. In case you feel that there is more than one correct
response, mark the response, which you consider the best. In any case, choose ONLY ONE
response for each item.

You have to mark all your responses @NLY on the separate Answer Sheet provided. See
directions in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent
to you with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the

examination has concluded, you should hand over to the Invigilator only the Answer Sheet.
You are permitted to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers @

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN

THE OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate. one-third of the marks assigned
to that question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question,

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.
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Which one of the following figures correctly
represents the relations befween Jupiter,

Mars and Planets?

(c) -
Ae>

(O
Jol®

Consider the following Statements and

Conclusions :

Statements : Mohan is a good sportsman.

Sportsmen are healthy.

Conclusions : [. All healthy persons are

sportsmen.
II. Mohan is healthy.
Which one of the following is correct?
(a) Only Conclusion I follows
(b) Only Conclusion II follows

(¢) Both Conclusion I and Conclusion II

follow

(d) Meither Conclusion 1 nor Conclusion
II follows

* 2

Which one of the following layers of
atmosphere has high concentration of ions ?

(a) Stratosphere

(b) Exosphere

(¢) Thermosphere

(d) Troposphere

Which one of the following cities has greater
annual range of temperature 7

(a) Kuala Lumpur

(b) New Delhi

(¢) Shanghai

(d) Ulaanbaatar

Match List [ with List Il and select the

correct answer using the code given below
the Lists :

List 1 List Il
(Climate type in (Major area)
letter code)
A Aw 1. Central California
B. Af 2. Indian Sub-Continent
C. Cs 3. North and South of
Amazon Forests
D. Am 4. Western Equatorial
Africa
Code :
A B C D
(a) 3 1 4 2
(b) 2 4 1 3
) 3 4 2
dy 2 1 4 3
(Contd.)
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6.

Ramsar Convention, to which India is a
signatory, is related to conservation and wise

use of ;

(a) wetlands

(b) genetic resources

(c) mines

(d) forest lands

Which one of the following rivers flows

between Satpura and Vindhya ranges ?

(a) Tapi

(b) Sabarmati

(c) Narmada

(d) Mabhi

Which one of the following is the correct

taxonomic hierarchy ?

(a) Kingdom — phylum — order — genus —
family — class — species

(b) Kingdom — order — class — phylum —
family — genus — species

(¢) Kingdom — class — order — phylum -
family — species — genus

(d) Kingdom — phylum - class — order -
family — genus — species

The subunits of DNA are known as :

(a) Nucleotide

(b) Nucleosome

(c) Nucleoside

(d) Polypeptide

10. The process of using microbes to treat areas

11.

12,

of land or sea that have been contaminated
by pesticides, oil or solvents is known as :
(a) Eutrophication

(b) Nitrification

(c) Ammonification

(d) Bioremediation

How is the rate of transpiration affected by
decreasing humidity and by decreasing light

intensity ?

Decreasing humidity =~ Decreasing light
intensity

(a) Decreases Decreases

(b} Increases Decreases

(¢) Increases Increases

(d) Decreases Increases

Vaccination involves :

(a) injecting the body with materials that
stimulate the body to produce
antibodies

(b) injecting the body with materials that
stimulate the body to produce antigens

(c) the use of monoclonal antibodies to

cure a disease

(d) use of antibiotics to cure diseases

(Contd.)
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13.

Which of the following are examples of
carnivorous plants?

(a) Sundew Venus fly trap, Pitcher plant
(b) Cuscuta, Rafflesia, Mistletoe

(c) Sandalwood tree, Broom rape, Pitcher

plant
(d) Cuscuta, Bladderwort, Mistletoe

14. Consider the following :

e C} ] G'D A
S < I - T

O O e *

Which one of the following figures will

come in the blank space 7
@ |~ v
e
88
(b) "
—
4 53
(c)
22 A
@ |
A
=~ &3

* o

15. Consider the following diagram (not in

scale) :

There are seven places marked as P, Q, R,
8, T, U and V as shown in the diagram. The
directly connected paths between two places
are indicated by line segments joining the
two places along with the length labelled in
km. Then, the shortest distance between P
and Uis :

(a) 14 km

(b) 15km

(¢) 12 km

(d) 13 km

16. The number of persons reading newspaper

is shown in the following Venn Diagram
(Survey of 50 persons) :

JoN

Paper 11

Paper | 13 Paper [I

In a population of 10000, what is the number
of persons expected to read al least two
newspapers 7

(a) 5000

(b) 6000

(c) 62350

(d) 3400

(Contd.)
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17.

18.

19.

A vehicle with mileage 15 km per litre
contains 2 L of fuel. The vehicle gets some
defect as a result of which 5 L of fuel gets
wasted per hour when the engine is on. With
what minimum speed the vehicle has to
move to travel 20 km with the existing
amount of fuel, if it travels with a uniform

speed 7

(a) 100 km per hour
(b) 120 km per hour
(c) 130 km per hour
(d) 200 km per hour

Consider the following statements relating

to Sea Salinity :

1. The ocean salinity depends on
evaporation and precipitation

2. Any change in the temperature or
density influences the salinity

3. Major source of sea salinity is
terrestrial discharge by rivers

Which of the statements given above are

correct?

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1and3 only

(d) 1,2and3

Consider the following statements relating
to salt production in India :

1. India is the second largest producer of
iodised salt in the world next only to
China

2. Salt mining is carried out in Himachal
Pradesh

3. Gujarat is the leading producer of salt
in India

4. Ground water is the important source
of salt in Rajasthan

Which of the statements given above are

correct 7

(a) 1 and2only

(b) 3 and 4 only

(¢) 1,2and3

(d) 2.3 and4

* oo

20. Which of the following statements relating

Z1.

to Dharwar geological system are correct 7

1. They belong to Archaean geological
period

2. They are metamorphosed sedimentary
rocks

3. They are of great economic importance
for its mineral resources

4.  They are found predominantly in
Karnataka, Tamil Nadu, Odisha and
Jharkhand

Select the correct answer using the code

given below :
(a)
(b) 2,3 and 4 only
(c¢) 3 and4 only
(d) 1and2Z2only

1,2,3and 4

Which one of the following is the correct

order of formation of geological systems in

India in terms of their age ? (Starting with

the oldest)

(a) Dharwars - Aravallis - Vindhyans -
Cuddapahs

(b) Aravallis - Dharwars - Cuddapahs -
Vindhyans
Vindhyans - Dharwars - Aravallis -
Cuddapahs

Cuddapahs - Vindhyans - Dharwars -

(c)

(d)

Aravallis

(Contd.)
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23

24,

235,

A change of state directly from solid to gas
without changing into liquid state is called :

(a) Fusion
(b) Sublimation
(c¢) Diffusion

(d) Emulsion

Water at 273 K is less effective in cooling
than ice at the same temperature. It is
because :

(a)
(b)

water 1s difficult to handle

water at 273 K has less energy than ice

at the same temperature
water at 273 K has more energy than

(c)

1ce at the same temperature
(d)

Which one of the following statements 1s

water is not a cooling agent

not correct ?

(a) The rate of evaporation depends on
temperature

(b) The rate of evaporation does not

depend on surface area exposed to the

atmosphere but on volume of the liquid

The rate of evaporation depends on

(c)

humidity of the surroundings

(d) The rate of evaporation depends on the

wind speed

Which one of the following is nof a
colloid ?

(a) Milk
(b) Mud
(c)
(d) Boric acid

Butter

26.

27

28.

Match List I with List II and select the
correct answer using the code given below
the Lists :

List I List Il
(Isotope) (Application)
A. Carbon 1. Treatment of goitre
B. Cobalt 2. Calculation of age
of the earth
C. lodine 3. Treatment of cancer
D. Uranium 4. Fuel in nuclear
reactors
Code :
& B:E& B
& 2 3 1 4
(b) 2 1 3 4
c) 4 1 3 2
@ 4 3 1 2

A device can write 100 digits in 1 minute. It
starts writing natural numbers. The device
15 stopped after running it for half an hour.
It is found that the last number it was writing

15 incomplete. The number is :
(a) 3000
(b) 3001
(c) 1026
(dy 1027

A circular coin of radius 1 cm is allowed to
roll freely on the periphery over a circular
disc of radius 10 cm. If the disc has no
movement and the coin completes one
revolution rolling on the periphery over the
dis¢ and without slipping, then what is the
number of times the coin rotated about its
centre 7
(a) 10
(b) 10.5
(c) 11
(d) 12

(Contd.)
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